www.davvonline.com
davv ba question papers

AFITeA-2013
ardta 2rdsueear ( Indian Economy )

Time 3 Hours | [ Max. Marks : Regular 85 ;7 Private 100
M- @oe o, 9 g ¥ ot frenfie - frafte wd sae & g stfvard @
y% @re ¥ G T fAde o oo ad @ & R ofw e
ST FETT § T SRER gnfh
Section A, B and C are compulsory for both - Regular and
Private students. Please follow the instructions, given in each

section. Marks distribution for both students are as shown in
question paper. : '

é Section A : Objective [Regular 15 x 1 = 15 / Private 15 x 1 = 15] §
§ 1. g A Uty o &) o By SR wE IRaes Wit e i @ §
2 (1) Wl &7 o (=) fecias a7 # 2
S (W) i & & () Tt ¥ B S
= Trade and transportation are included in calculation of national =
& income of India in : n
3 (a) Primary sectors (b) Secondary sectors 8
=i (c) Tertiary sectors (d) None of these. =i
2. wwa ¥ 3R w1 ugigew fee ad § gan?

Nationalisation of Banks in India was done in year?

(a) 1951 (b) 1956
= (c)1969 {(d) 1972. 4
I3 TaREd v IS SO g 2
Py (1) 1 3789, 2005 (%) 1 34, 2006 o
2 (¥) 1 33, 2007 (3) 1 s, 2008. S
& Eleventh Pive Years Plan was started : S
= (a) 1 April, 2005 (b) 1 April, 2006 £,
5 (c¢) 1 April, 2007 (d) 1 April, 2008 =
S 4. Y fm W G o @ i A 27 S
- (37) anforfas S (%) wEl 6 8

(w) 7 3% (%) TIgHR At T |

Which one is not the insitutuional source of Agriculture Bank?

(a) Commercial Bank (b) Co-operative Bank

(c) Regional Bank (d) Money Landers.

5. or@ ¥ e e & ot 2
(31) 9= WA BT (=) =W IRARE F
. (@) @Y 9RENH g (2) 3w At

“More irrigation is used in India through :

{a) Major Project (b) Medium Project

(c) Small Project ) (d) All of these.
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6. WIRA ¥ B Wel TR gY -

Postal services has started in India :
(a) 1840 (b) 1837 (c) 1851 (d) 1853.

7. w4 R # e wta 3oE §7
Total number of National Parks in M.P. are?
(a) 3 " (b) 8 (c) 9 (d) 11.

8. 7 v ¥ W ¥ Rt & Fo € -
(37) dPE (¥ TR (®) anif (%) SuleRT Wt

Causes of backwardness of Agriculture in M.P. are :

(a) Institutional {b) Natural

{c) Technological (d) All of them.
2 9, fradY9Ra & Wik w2 <
> (&) STRiE @ R = (&) TS AW -
e (®) Rl & SgRel (=) Rem ® fdan &
3 Which is not the demographic features of India from the 3
S following : e
=3 (a) Growth rate of population (b) Revenue village =
S (c) Trends of urbanization (d) Dependence on education. £
S 10. oY wE TR AN ) el & qme 3 3 g e e 2

(37) TR Seral (=) T Sfafe Raea

() &g 3a & R mu 7R woE (=) e

This is not suggestion for solving the problems of cottage and
g small scale industries : g
£ (a) Technical assistance (b) Rural industrial projects =
g‘ (¢) Credit guarantees scheme for small industry Iy
& (d) Modernization. g
S 11, W S Qe g S
& (37) IT-ITES (=) ITI 5
% (W) deiefrs e (%) 3T T ' '%

The following is related to knowledge and skill :

(a) IT-ITES (b) ITI

(c) Polytechnique College (d) All of these.

12. <G4 deadla g s gt fafy 2 -

(37) 31 W, 2007 (/) 31 wH, 2006

() 31 W, 2008 (2) 31 O, 2005

Ending date of Tenth Five Year Plan is :

(a) 31 March, 2007 (b) 31 March, 2006

(¢) 31 March, 2008 (d) 31 March, 2005,
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14.

(37) 15 €, 1950 (W) 15 Wi, 1951

(@) 15 9, 1952 () 3 | ¢ T
Establishment year of Planning Commission of India is :
(a) 15 March, 1950 (b) 15 March, 1951
(c) 15 March, 1952 (d) None of these.
R Aardd:

(a¥) vitrert & fmio A (3) TR |

(|) wrul wesa @ () 79 ¥ F¢ 7

Sanitation means :
(a) Constructions of Toilets (b) Bathing

(c) Fully Sanitation ~ (d) None of these. <
15. Rrn & v §§ : é
(31)1870 % (=) 1907 & (W)1919 % (=) 1923 %1 &
TISCO was established in : -
(a) 1870 (b) 1907 (¢)1919  (d)1923. - ¢
Section B : Short Answer [Regular § x 4 = 20/Private 5 X § = 2%
1. e seferaen @ Ry e E 2 o
What do you mean by Indian Economy ? =
agar OR .
1T § 7 Sl Sl 99gEA ) Discuss the forest resources in India
2. WA ¥ FA T W b G BRI TGS |
Explain social causes of high birth rate in India. 3
‘ Jgar OR | =
W ¥ AT B G AR & B I T It ) e S
Write any four government measures to remove malnutritioé
in India. =
3.  uy. &t orforaeen ¥ wfy &Y ity e =
Write the role of Agriculture in Economy of M .P. 8
argar OR : =
apfior 9rg ® 1 aad ? What is meant by Rural Credit ?
4. VAT UM A T I ¥ &2 |
What are the main problems of Cement Industries ?
AFNYgar OR
A # Tt AT 3 er wnend w4 8 ?
What are the main problems of Textile Indusries in India?
anfefes PrYem & o9 o awe €2
What do you mean by Economic Planning?
Agar OR
TREdl vg a8 Ao & T RE{?

What are the objectives of Eleventh Pive Year Plan?
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Section C : Long Answer [Regular 5 x 10 = 50/Private 5 X 12 = 60)

1. fmvie ademen @ e Rl & e & daf § grasd)

Explain the main features of a developing economy with
reference to India.

Hgar OR
“yrg § e REw & T Evas TR @fs A SUae
&1 e HRm)
“Essential basic mineral resources for industrial development
are found in India.” Discuss.

2. Omur Y 1 ARl 27 TR T TER W W v S o i)
What is Nutrition? Write the main nutritional programmes
launched by the government.

gar OR
AR TR i SFEEE A 3 = i)
Discuss the population policy of Government of India.

3. o N afta s O ol @2 SO 0 SuaieEl v st @7
What do you understand by Green Revolution in India? What
have been its achievements and failure ?

stgar OR
S T anfdis fEm ¥ ey e S
Explain the relationship between Agriculture and Economic
Development.
4. ¥RG ¥ AR SO R T ey fafaw)
Write an essay on the Automibile Industry in India.
Agar OR
o T F o 3R TR TR T T e o foe
o f6d ™ ?
Distinguish between small and cottage industries. What step
have been taken by the Government for its development ?

5. v PrieE & deiwets seel @ vl Sl
Describe long period objectives of Indian Planning.

G OR
TreliE Frae & fRwead fafel

Write the failures of Indian Planning.
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